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SHSEIAKREBE

BT () £ HEH| 5 S B BT ()% ek 5 =z i BT (X) £ HEHR| B X it BT (X) £ e 5 = B BT (X) £ HEHR| 5B X it
ZHET 47 52 57 109|7k B HET 207 265 250 515| BT 1 X 305 349 375 724| = HET 84 109 116 225|REH 87 116 121 237
th ] 25 31 30 61|RESHT 291 375 349 724 | RET2 X 308 378 388 766| SZBAET 59 72 78 150 | & SHET 49 60 75 135
A 39 44 48 92| L& HHET 98 136 156 292| REBT3X 51 33 51 84|15 TUETRT 33 51 51 102| 75 7R ET 38 58 59 17
TEHET 85 92 100 192|425k ET 22 39 33 72|db %= EET 652 929 949 1,878|fRIEFHT 24 27 44 71|{EE 2 BT 13 22 25 47
FaERHET 96 108 125 233| FAHAT 33 36 50 86| T AHT 90 143 128 271 |¥& BT 94 11 103 214| £ B EET 16 18 22 40
REHr 55 47 50 97| & SHT 52 64 65 129 | r#ABT 95 123 134 257 RATET 272 347 365 712| & HET 38 48 62 110
B FEET 295 367 376 743|123 HET 240 296 280 576|#FH—T B 84 100 112 212|&2 8T 64 74 69 143| T {RET 59 78 78 156
J\BTHET 12 12 17 29(r9y = HET 105 139 138 277|#E W =TH 105 112 134 246 | BLHET 125 121 121 242| 5 HET 35 60 62 122
P9 B BT 20 23 39 62 (7K ZHET 79 94 103 197|#E=TH 100 90 133 223 | fEALET 523 618 586(  1,204|% BHET 70 80 100 180
A RET 27 32 38 70|t %R HET 15 26 19 45|EHMT B 162 199 225 424| B ATET 68 78 99 177| KB B HT 22 29 52 81
R—&HT 36 34 33 67|R)IFRE 402 463 401 864|EWATH 80 109 110 219 FrfEA X 164 179 194 373| [ &HET 38 54 53 107
AT 90 92 90 182|288 —TH 231 278 271 555| K 5 X 109 118 27 145|RIBMX 130 167 147 314| B ARHET 51 74 74 148
H=RAET 23 23 28 51|f2 AKX 79 109 113 222|¥TR—THE 228 287 327 614|TEE MR 166 204 211 415|lLEE—TH 65 74 87 161
BI\YERER 505 562 603 1,165(6)I[HIX 5+ 1,854| 2320| 2234 4554|HK=TH 236 285 283 568|185 METR X 77 106 100 206|lLEB=TH 96 109 122 231
[iPANES =S 119 129 136 265| FHAEFET 89 128 111 239|FHK=TH 196 253 268 521| = ST 182 209 207 416|ILEB=TH 101 121 125 246
[:IAVES =S 359 425 446 871|F B+ ErHET 68 92 92 184(#H AT B 191 292 273 565|FEE—TH 74 94 84 178(ILBEMTE 114 113 120 233
I\ R ERHET 226 219 214 433|/]s L HT 20 31 30 61|h—TH 161 170 201 IN|(FEES=TH 142 172 201 373|ILBAERETH 92 132 129 261
$rEET 521 657 675|  1,332| LAaERET 66 77 79 156|F =T H 249 334 351 685|355 EHT 108 151 118 269|ILEBAATH 113 147 144 291
FRET 20 16 15 31 (R4 EFET 70 83 80 163 |4t AR AT 93 108 121 229 MDE—TH 101 143 146 289| LEHX 5t 1,097 1,393 1,510 2,903
=odi 14 16 15 31([BHMX § 313 411 392 803|dtZEAE—TH 134 189 218 407|KDEZTH 120 214 201 415| FHREE—TH 142 166 172 338
ERAITX 20 19 23 42| /3L ET 92 106 133 239 ZEBEB -TH 185 254 309 563|DIE=TH 119 178 170 348| FHREER_TH 104 138 114 252
SRETHT 17 21 31 52 (¥R ZAHT 191 227 212 439|dt RERX 104 151 164 315|CPERIX 5t 2,729| 3425 3411 6,836| FRER=TH 156 168 174 342
HERT 109 116 108 224 % RAHT 214 236 274 510|HBIiX 5t 3918 5006| 5281 10,287(FFAET 226 281 254 535| FREFRIMTE 170 198 206 404
FHAHET 473 603 589 1,192(Jt SET 72 81 105 186 | & SLET 218 257 286 543| . — Q@7 57 77 80 157 FRERETHE 146 183 168 351
R 100 73 122 195 | F3/RRE S BT 17 25 17 42| /AKX 108 140 140 280 |45 FHT 94 116 125 241 | FREERATH 168 199 220 419
A2 190 238 244 482K SLHT 27 42 37 79(FRIIER 57 66 77 143| AEHET 220 305 329 634| FHREFE —TH 133 165 154 319
LRI 59 41 65 106 |JL =X 69 50 75 125FEARJIIX 55 78 86 164 |3 1. BT 32 52 55 107|FREB -_TH 143 176 178 354
R4 200 274 266 540| % ME#H—TH 134 169 176 345|481 #7ET 104 134 145 279|Z ALET 83 106 117 23| FHREB=TH 147 186 194 380
Pl i:b <1~ 375 457 490 947| EREMIX 5t 816 936 1,029 1,965 | #1 F #TET 20 31 38 69 | 1| I HT 143 155 169 324 FHREBET B 103 116 139 255
tHER6X 201 239 211 450 | = {RET 127 152 174 326|fEIFHEHIX 5§ 562 706 772 1,478 | & ;R ET 57 86 88 174| FREBRTH 130 142 141 283
AEXBE-TH 152 168 176 344| EAIRR 8 7 13 20( = sk BT 535 693 654  1,347|H AT 25 39 44 83| FHREABATH 140 165 174 339
HEE2—TH 81 97 101 198| &SR 12 13 18 31| =k T 480 569 573 1,142(#F(F—THE 97 120 110 230(FHREBLTH 172 208 237 445
E=E_TH 105 108 130 238| BHEX 10 13 12 25 |{EHEET 52 76 72 148|AFF=THE 56 75 74 149 FREFBE/NTE 120 133 149 282
EE=TH 109 132 145 277 |iEALET 42 47 63 10| & sk #HET 76 84 104 188|AFIF=THE 72 94 105 199(FREBE—TE 115 150 143 293
Am—TH 114 119 125 244| £ ERET 26 32 29 61| T IRET 44 53 58 1M |AHFFEETE 103 128 124 252| FREM_TH 147 184 191 375
HH=TH 136 172 201 373|/IN1ET 41 47 64 111|/\E AT 57 76 7 147|#FFRTH Al 92 92 184| FHREFHIX 5t | 2236| 2677| 2754 5,431
Hi5—TH 68 83 86 169|718 I1BT 40 43 57 100(/\ ERET 129 153 173 326|#FIFATH 70 70 81 151|+a®T 119 130 146 276
EBE-TH 144 192 175 367| 2T 30 32 47 79|—IRHT 7 80 83 163|BK—TH 93 127 119 246 | ERFET 103 110 113 223
#E—TH 140 133 142 275| E{RHTET 107 134 138 272 | & ERET 161 187 208 395\ _=—TH 62 73 81 154 | FaE ET 99 124 116 240
ZXEZ-TH 112 140 143 283| B4R 91 106 117 223|HE KX 392 499 480 979|MPHIX 5t 1,561 1,996| 2047 4043|FE#H—TH 105 125 121 246
KIE—TH 162 156 203 359| = [RET 69 98 78 176(h EXRHX 211 265 239 504 |## ;T T 453 574 528 1,102|wH=TH 77 72 91 163
KRKIE=TH 105 109 97 206| SRMX § 603 724 810 1,534 &AL A& X 115 136 127 263 | FHEET 141 174 163 337|FEHM=TH 66 76 84 160
#H—TH 63 68 73 141 | ALET 156 213 228 441 |—1FHEX 229 284 240 524 |12 FHET 337 410 391 801 (3R EFHT 64 81 Al 152
B35 -TH 66 62 75 137K 7K BT 81 114 109 223|HEVEHE—TH 75 91 100 191| @ BT 381 526 513|  1,039|3=REFET 98 118 107 225
B5%5=TH 25 36 35 T1(EX 123 149 172 321|HIVEHE_TH 129 153 176 329| BBX Bt 1,312| 1,684| 1,595 3,279|FEEREHAT 83 89 101 190
BEX—TH 130 168 182 350|FfHE—TH 117 78 124 202|HEVEHE=TH 82 104 107 211 BmERHE—TH 63 75 75 150
BHR=TH 23 12 19 3|HHAR-TH 70 82 81 163|HSVFESEMET B 125 164 147 311 EERX 82 91 96 187
BXRATE 101 110 140 250 KK X 94 127 126 253(EEET B 0 0 0 0 NEEHMX 5t 959| 1,001 1,121 2,212
BXATH 64 82 87 169 [FHILX 133 168 171 339|/\E#H X 83 115 115 230
BXtTHE 121 140 154 294| R HHPHK 61 75 85 160[MBHIX 5t 3046 3782| 3727 7,509 NG 28,954| 35489| 36,538| 72,027
BRINTE 156 219 214 433| M FAEMX 53 70 57 127
BEXATH 1 1 3 4R HEX 216 276 298 574
B2X+TH 33 31 19 50 —ARHIX § 1,104 1,352 1,451 2,803
#HAR—TH 25 25 27 52
HAZTH 98 145 136 281
HAR=TH 152 216 232 448
MEX  § 6,844| 7,986| 8404 16,390
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BT () £ HEH| 5 S B BT ()% ek 5 = i BT (X) £ HEHR| B £ it BT (X) £ e 5 S B BT (X) £ HEHR| 5B ES it

EINE:k 33 36 39 75|/ \ WS ET 146 174 205 3793 R ET 127 159 169 328 | NET H [E 43 48 67 115 | [ BAET 47 57 67 124
%)IIFRTR 150 197 219 416| == 8T 51 69 68 137|FE iR R ET 224 221 254 475 |3 RBTILE 29 30 36 66| FAAREFET 24 33 36 69
EJN L) 32 43 43 86| £ LLIET 212 256 288 544 |EAFET 293 430 443 873| ;AN ET 1R 107 124 143 267|773—ILE# 31 45 45 90
ZE)IIhETR 127 147 164 311 | BHT 51 64 67 131|Bk—TH 130 164 147 ST [AINETEYDE 54 62 67 129|;A & BT 55 70 76 146
EJNEd i) 33 37 39 76 (R & LLET 51 73 65 138 [ EEFHET 4 56 58 114 NET S LA R 57 65 69 134 | & [RET 45 42 37 79
EJN B 37 35 44 19— /=X 5t 511 636 693 1,329 | B A ET 37 65 56 121 ;AT NET O E B 16 22 22 44| T EFET 43 66 69 135
EJNE ) 50 49 44 93(#RK S HT 90 85 90 175 |7 2HET 110 165 180 345 AINET P EE 3 3 5 8| L EFHT 105 143 155 298
E)IIFETR 38 41 48 89 [#BRERHET 92 117 129 246 | Fi i EHET 238 331 366 697 |;R] ETELih 5 3 6 9| =R ET 30 34 39 73
Ik AHETEE 44 52 44 96| #BEABT—T B 29 32 35 67(BAXMTH 239 306 325 631 ;A NET AR 20 21 37 58| FHEE 20 19 28 47
FE)IIKAETER 26 25 29 54|88RABT—TH 32 31 42 T3BAX=TH 106 128 128 256 ;RIETIR £ 8 7 9 16| LHE 22 28 29 57
EJNE i) 38 27 50 T7|ERART=TH 4 51 67 18| &5 3 HT 221 316 318 634 ;I NETRE 17 17 17 34| B =BT 58 64 80 144
EISHR 147 180 207 387|E5RABTM T B 197 230 248 478|' 5 SHT 172 225 235 460 AT BT £/ 5 6 2 8|5l = AT 14 21 17 38
%I #=ERT G 49 40 49 89| EEA HET 168 17 198 369|5PNE—TH 100 172 167 339 ;A NET T T 5 5 2 7| #2758 43 47 39 86
EINE:ES: 74 96 94 190 | #&K FIRET 101 101 113 214|I5NE-TH 78 112 115 227 ;AT NETAE 17 14 16 30| #FEKET 26 21 28 49
EJNIPE g 88 93 108 201|853k L 3RAT 31 31 36 67 | ZAEFET 112 149 157 306 ;A NETHR 2 20 20 22 423 EHET 12 15 15 30
E)IEATR 109 130 130 260| 5K T 5RHAT 29 33 35 68 | ZAEFHTAT 83 89 96 185 IAMhIE &t 406 447 520 967 | L FEET 14 10 11 21
EJNEN:IFi) 35 36 45 81|88k EEE 36 48 46 94| &8 A E BT 101 118 122 240| TEHEH 67 82 86 168|="V#2HT 4 4 3 7
EJIEIN:IES 81 76 81 157 |E& R &N=F BT 168 188 213 401 | B FHE 345 422 425 847| L HEH 94 85 97 182 | $UARHT 3 3 1 4
)11 F0;RETEE 201 266 278 544 |§8 K BT 82 91 110 201 | FrER A E AT 34 42 36 78| R E DER 58 75 70 145 | o] BT 7 3 7 10
EJNEakaE 246 257 295 552 [#8RK P ET 30 31 34 65(MitIX 5t 2,791 3670| 3797 7467|{ER 22 27 29 56| H+AHET 0 0 0 0
FMX 5t 1,638| 1,863| 2050| 3913|#&E KEMT 185 221 223 444| H [EET 179 255 270 525| KP9E 10 1 9 10| #0 R BT 2 2 0 2
REAT 309 409 420 829 |8 k K E FaHT 135 210 213 423|F CET 143 168 207 375|#E% 29 20 26 46 | F5 AT 0 0 0 0
FHRHT 282 320 332 652 (#5RKFET—TH 12 11 16 27| K¥rET 73 91 91 182|HE 34 41 43 84 |+H;E AT 22 28 44 72
HEET 43 57 62 119|#8RKFET=TH 65 79 92 171 |BE: A SHT 19 23 29 52| FKi& 17 23 29 52| ;HKAT 41 45 55 100
RIEAT 50 80 72 152|#8R/K FET T B 31 34 34 68|7THT 77 118 124 242| L K& 23 24 24 48| TEHAHET 61 72 85 157
FEKSEET 146 201 202 403| %5k A HHET 31 42 42 84| ch /4ERET 44 59 71 130| KR iBH 10 12 12 24| EEAHET 39 50 54 104
e S HT 284 345 356 701 [ESRHIX 5t 1,585 1,837| 2016 3,853| R&EFHET 62 77 78 155|hE 38 34 39 73| T 1E B AT 30 36 42 78
Fepiulig 73 89 91 180| A 45HT 254 320 340 660| £ [FRET 63 7 68 139| SH MK 5t 402 424 464 888| =Y REFHT 57 63 89 152
Byl 260 301 326 627 |/ININET 206 233 264 497 [4EARET 24 29 30 59 SR LT 47 57 65 122
HEHAT 319 403 430 833|BA=TH 167 221 202 423| B A 328 389 410 799 LB B ET 4 5 5 10
e S AT 12 10 16 26 |/MINETET 104 105 143 248|CIRTET 170 192 219 411 TATHEE 22 30 25 55
ESFH 132 202 187 389| B #FHT 274 351 382 733|#BRE SHT 198 235 250 485 Stutbts 5t 928| 1,113| 1,246 2,359
BESFR 125 180 209 389|BASHETIL/E 48 59 60 119 [FREBHTET 156 199 199 398 =5 56 58 53 111
ESFH 124 190 186 376|BABHETE /K 25 29 35 64|/ $ERETET 12 21 18 39 i 2 0 2 2
IREIX  § 2,159| 2,787| 2,889 5,676| B3 ST AT 51 69 66 135| 3 O #r AT 57 83 91 174 R 87 72 89 161
EET1R 55 63 54 117|BA SR TG/ 45 51 53 104 | Se R T 170 239 234 473 ZE 32 18 39 57
EET2X 49 46 7 17| &/ RETET 37 57 56 13| SEXEMIX 5F 1,775| 2,249| 2,389 4,638 #w=-QO 17 13 13 26
EET3X 46 45 60 105|BH S & HT 93 130 126 256 ) 6 7 2 9
EETAX 55 54 65 19| EFR 8T 54 63 70 133|EBKithiE & 9,074| 11,420| 12,028 23448 Bra 0 0 0 0
EET5X 131 169 176 345| TR SHT 133 185 175 360 HMPREX 28 35 35 70
EET6RX 148 148 171 319| B AHET 175 231 231 462 EOibiE 5t 228| 203 233 436
EE7R 35 47 45 2|HHSAET 238 274 279 553 Big 238 276 288 564
EETSX 87 84 95 179 | RFZSHT 264 323 321 644 B3 71 67 70 137
EETOX 112 105 120 225|dt 7% SET 141 165 182 347 THE 0 0 0 0
EET10K 248 275 318 593 |74 7 S BT 49 68 66 134 Bigtthis; 5 309| 343 358 701
EET11X 0 0 0 0| SHT 54 94 82 176

EET12K 185 283 277 560 | &R & 2412 3028| 3133 6,161

EMX 5t 1,151 1,319 1452 2771 & 5 45249| 55408| 57,778| 113,186
Z) It 5t 4948 5969 6,391 12,360




